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Winter Addition

Solve the following word problems.

John has 3 snowballs, he makes 2 more and his
friend gives him another 4. How many snowballs
does John have now?

Anna finds 2 icicles outside, then she finds 3 more
in the backyard and 1 more on the porch. How
many icicles does Anna have in total?

On Monday, it snowed 2 inches. On Tuesday, it
snowed another 4 inches and on Wednesday, it
snowed 2 inches. How many inches did it snow in
total?

You have 2 winter hats, 3 scarves, and 2 pair of
gloves. How many winter items do you have in
total?

There are 3 snowmen in the park. 2 more are built
by children and another 3 by adults. How many
snowmen are there in the park now?

Sally has 2 pairs of mittens, she finds 1 more pair in
her closet and her mom gives her another 4 pairs.
How many pairs of mittens does Sally have now?

There are 3 reindeer in the field. 1 more join them
and then another 2. How many reindeer are there
in the field now?

John decorates his Christmas tree with 2 red
baubles, 4 blue baubles and 3 gold baubles. How
. many baubles has he used in total?
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